Signature and Name of Invigilator

1. (Signature)
(Name)

2. (Signature)
(Name)

D—-5508

PAPER —1II

OMR Sheet NO.: ........ccoeuemriicirriceeecceeenes
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

Test Booklet No.

LABOUR WELFARE &

Time : 1V4 hours] INDUSTRIAL RELATIONS [Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2
2. This paper consists of fifty multiple-choice type of questions.

3.
3. Atthe commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

(iii) ~ After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the
OMR Sheet Number should be entered on this Test
Booklet. 4.

4. Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Brample: (D ®

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark
at any place other than in the ovals in the Answer Sheet, it
will not be evaluated.

6. Read instructions given inside carefully.

7. Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification. 9.

9. You have to return the test question booklet to the
invigilators at the end of the examination compulsorily

ThenfyEt & fag e

Teel I8 o HR 1 T IR S U e feafa |

G Y- § = sgfaehedia g ¥ |

RIS IRE B W, - JReeht STeRT < <t STRAT | Tee i fife

STIHT F¥A-GRTshT TIe a1 STsh! Fefarad sie & fag

ST fSeht St STTIeh! ST T © :

(i) weA-gfaer Wie % T 36 Hear IS W TR HITS
e & HIE & | el g8 A1 T We-e it gl
WHRAHL |

(i) oHeR UY T BY FEITTHR U9=-YfeenT o U8 T Ug=i aht
T T STt e ek T o Tk AT | oot gficert
Frit U / vt <R & T g o T & e F
reia feReit ot W T FfeUUT UfTehT iehT 7 aht qerm
T TH I A ETeRT S8k T UR g8t Ha WosT-gfeent
el | ek forg 3traent uie fire fod SRR | Saeh sg =
T 3Tt UY-YRaehT aTae it STertt 3fR 7 & Smueht
sifefien T feam e |

(i) T9 9 % 9 TeA-YFKH FI BT FEA OMR T T
ifeRd i 3R OMR 51k i HH T 59 T¥-RTeht T
sifpa S |

eh e % foTq =R ST fashed (A), (B), (C) @@ (D) T ™ €1

STTYeh! TEI ST o ST ol U Y SRR HIA BT ¢ 91 o =t

feamn TR |

sarew: CAD e O

& (C) Tel SWFI

T 3 ST SheTeT W9 U 1 9 1SR el T STR-wefeh TR Sifha

F B | AT 29 SR 9o W e T g 6 s R o

T W IW FogifRd F ¥, A ST JeaiehT 721 o |

a1t fed T frdell o ey g |

e M (Rough Work) 30 JRe! o 1< 78 W |

2fE 3T ITR-YRTRT TR 7T AT 21 T <hiE ot Fremt Srerdy stoent

T B W, foRE off Wi X gwid A sifeRd whea € O wlen

e sreia s R &3 S |

JMIHT JeT THH B W IR-Yfent FRieTs 7eIed &l aier

TeEe § S TiaT TAIY o o5 ST |ref el e ¥ sl 7

TR ST |

and must not carry it with you outside the Examination | HE It /TS T W U T & T e |

Hall.
10. Use only Blue/Black Ball point pen. 11. ferelt ot wehte <1 w0 (%o ENEAE S &ae I h
11. Use of any calculator or log table etc., is prohibited. vt T
12. There is NO negative marking. 12. TTeTd IeR ok foTq 3ieh T8t ahTe e |

D —5508 1

P.T.O.



LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of the questions.

Human Resource priorities and tasks evolve overtime, because they need to fit or
make sense in terms of the company’s strategic direction. HR's central task is always to
provide a set of services that make sense in terms of the company’s strategy. A strategy
is the company’s plan for how it will balance its internal strengths and weaknesses
with external opportunities and threats in order to maintain a competitive advantage.
Trends like globalisation and increased competition have placed HR front and centre
in most strategic planning efforts. For example, HR managers today are more involved
in partnering with their top managers in both designing and implementing their
company’s strategies. Today’s emphasis on gaining competitive advantage through
people makes it necessary for the department to screen, train, appraise and reward
employees too important to be ignored when the company is reviewing its strategic
options. Today’s focus on competitiveness and operational improvements also means
that all managers including HR - must be much more adept at expressing their
departmental plans and accomplishments in measurable terms. Top management wants
to see, precisely, how the HR manager’s plans will make the company more valuable,
for instance by boosting morale and thereby, improving performance.

Answer the following questions on the basis of this paragraph.

1. is a plan to balance company’s internal strengths and weaknesses
with external opportunities and threats.

(A) Human Resource Service
B) Strategy

) Policy
D) Procedure

2. Due to globalisation human resource management is

(A) Losing importance
(B) Gaining importance
(C) Becoming out of focus
(

D) Both A and C
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3. Top management is interested in knowing how human resource management is
contributing to

(A) Value of organisation

(B) Training of employees
(C) Profit making
(D) None of the above

4. HR priorities

(A) Change over a period of time

(B) Remain static
(C) Do not get affected by changing environment
(D) None of the above

5. HR managers are

(A) Participating in designing and implementing company strategies

(B) Focussing on operational improvements
(C) Expected to express their accomplishments in measurable terms.
(D) All the above

6.  Match List - I (Managerial activity) with List - II (Managerial function) and select the
correct answer using the codes given below :

List - I List - II
(a) Forecasting (i)  Controlling
(b) Communication (i) Planning
(c) Selection of managers (iii) Leading
(d) Establishing performance (iv) Staffing
standards
Codes :
@ (b (© ()
(A) @@ @) (@) @
B) @ @) (@v) (i)
(€ @ @v) @) @
D) @ @) (@v) ()
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The process of grouping activities into units for the purpose of administration may be
referred to as

(A) Departmentation
(B) Decentralisation
(C) Coordination

(D) Specialisation

* No Smoking in the factory” is an example of

(A) Policy

(B) Procedure
(C) Rule

(D) Strategy

The main drawback of the functional organisation developed by F. W. Taylor is that it
fails to recognise the

(A) Scalar Principle

(B) Principle of equity

(C) Principle of Unity of Command
(D) Principle of esprit-de-corps

The following steps are involved in the process of organising

(i) Forming supportive objectives

(i) Delegating to the head the authority necassary to perform activities
(i) Establishing enterprise objectives

(iv) Identifying and classifying activities

The correct sequence of these steps is

A) ) 0 @ )

B () O )

© O ) (v )

D) @ @) @) (v)
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11.

12.

13.

14.

15.

Recruitment Refers to :

(A) Process of searching for prospective employee

(B) Basis for selecting the right candidate

(C) Solicit necessary information from prospective applicant
(

D) Know the suitability of candidates

Induction means :
(A) The determination of the job to which an accepted candidate is to be assigned
(B) Introducing the new employee who is designated as a probationer to the job
(C) Measuring the efficiency of labour

(

D) Absorbing human resources as organs of the company

Accountability :

(A) Is the requirement of answerability for one’s performance

(B) Isright to give orders and the power to exact obedience

(C) One’s obligation to perform the functions

(D) None of the above

Minimum wage is :

(A) The wage paid or received in monetary terms

(B)  The total amount of remuneration received by an employee during a given period

(C) The amount of wage arrived after discounting nominal wage from the living cost

(D) The amount of remuneration which could meet the nominal needs of the average
employee

An organised factual statement of the duties and responsibilities of a specific job is
known as :

A) Job description
B) Job specification
C) Job evaluation

D) Job enrichment
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16. HRD develops competencies at which level (s) ?

(A) Individual level

(B) Group level
(C) Organisation level
(D) All the above

17. Who is the father of Quality Circles ?

(A) Lewin

(B) Ishikawa

(C) Udpa

(D) Robert Owen

18. Match the following :
List - I

(a) Forced Distribution method
(b)  Critical Incident method
(c) Alternation Ranking method
(d) Management by objectives
Codes

@ ® (© ()
(A) @) @@ @) @Gv)
B) @ @) 3§D @)
© @) @ G @)
(D) @) @) @ G

19. Sensitivity Training is known as
(A) T - group training
(B) Operative training
(C) In - basket exercise
(D) Problem solving Training

D —5508
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List - I1

Keeping record of uncommonly
examples of work related behaviour

Predetermined percentages of employees
placed in various performance categories

Ranking employees from best to worst
on a particular trait until all are ranked

Setting goals and periodically measuring
performance
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20.

21.

22.

23.

24.

25.

Which one of the following is a motivating factor according to Herzberg ?
(A) Jobitself

B) Salary

Working conditions

Size of the organisation

The provision of training and practice in increased range of skills is known as

A) Job enlargement
B) Job enrichment
Job Analysis

Job Evaluation

means gradual, unending improvement doing little things better, setting
and achieving higher standards.

(A) Organisation development
(B) Six sigma

(©)

(D)

Kaizen

None of the above

denotes the level of togetherness or team spirit among the members of a
group vis-a-vis their group goals.

(A) Morale

(B) Motivation

(C) Learning

(D) Job satisfaction

Who are the three major actors of Industrial Relations ?
(A) Workers

(B) Employers

(C) Government

(D) All the above

Which of the following is/are the methods of settlement of Industrial Disputes ?
(A) Negotiation

B) Conciliation

Both A and B

None of the above

D —5508 12
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26.  Which of the following is not a duty of a conciliation Officer ?

(A) To induce parties to come to a fair and amicable decision on the matters in
dispute.

(B) To act as a mediator
(C) To promote settlement of disputes

(D) To act as adjudicator

27. Temporary closing down the undertaking with the intention of forcing workers to
accept the demands of employers is called

(A) Lockout
(B) Layoff
(C) Strike
(

D) Retrenchment

28. BMS is affiliated to one of the following political parties :
(A) Indian National Congress

(B) Bharteeya Janata Party

(C

(D

) Communist Party of India (Marxists)

) Bahujan Samaj Party

29. The founder of Textile Labour Association was
(A) V.V.Giri

(B) Gulzarilal Nanda

(C

(D

) Mohandas Karamchand Gandhi
) Jaya Prakash Narayan

30. The oldest trade union in the country is

(A) INTUC
(B) AITUC
(C) CITU
(D) HMS

D —5508 14
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31. Revolutionary theory of trade union was propounded by

(A) Webbs

(B) Hoxie

(C) Karl Marx
(D) Gandhi

32.  Which among the following comes under the category of economic legislations ?
(A) The Industrial Disputes Act, 1947

B) The Payment of Wages Act, 1936

Workmens” Compensation Act, 1923

The Apprentices Act, 1961

33.  Which among the following Acts contains the provisions relating to hours of work of
women workers ?

(A) The Employees State Insurance Act, 1948
B) The Factories Act, 1948

The Maternity Benefit Act, 1961

The Workmens” Compensation Act, 1923

34. Which of the following is correctly matched ?

(A) Indian Constitution : Equal Remuneration Act, 1976

(B) Dependant Benefit : Maternity Benefit Act, 1961

(C) Hours of Work Convention : Workmens” Compensation Act, 1923
(D) Chief Inspector of Factories : E.S.I. Act, 1948

35.  Which of the following is not correctly matched ?

(A) Workmens” Compensation : Employees’ State Insurance Corporation
Act, 1923

(B) Employees’ State Insurance : Partial disablement
Act, 1948

(C) International Labour : Social Justice
organisation

(D) Factories Act, 1948 : Hazardous occupation

D —5508 16
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32.

33.

34.

35.
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36.

37.

38.

39.

40.

Assertion - (A) : Development of Labour Legislation after Independence is welfare
oriented.

Reason - (R) : Development of Labour Legislation after Independence gives more
protection to national economy.

A) Both (A) and (R) are true
B) Both (A) and (R) are false
C) (A) is true but (R) is false

(
(
(
(D) (A) is false but (R) is true

)
)

Which of the following statements relating to the Trade Unions (Amendment) Act,
2001 is not correct ?

(A) The Act came into force in the year 2002

(B) The Act limits the proportion of outsiders to 1/3' of the total number of office
bearers or 5, whichever is less generally.

(C) A person who is a member of the Council of Ministers in a State can become an
officebearer of a union

(D) Election of office-bearer of a union should be held at an interval of three years.

The Industrial Employment (Standing Orders) Act was enacted in the year :
(A) 1946

(B) 1947
(C) 1948
(D) 1950

Which schedule of the Industrial Disputes Act, 1947 deals with Unfair Labour Practices ?
(A) Second Schedule

(B) Third Schedule

(C) Fourth Schedule

(D) Fifth Schedule

Under the Payment of Bonus Act, 1965 any employee who has worked for not less
than_  working days in a year is entitled to payment of bonus by his employer.
(A) 5

(B) 10

(© 20

(D) 30

D —5508 18
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(A) sAfufm 99 2002 § A1 g1

(B) Afufam et safwdl < U =l YSIHRITE St el §eA sl 1/314 91 5 qeh S
off T Y T, T S L 2

(C) &R ot ARE <1 ToF H Hall GRS 1 IS © 6o 1 IRIUhRN 9 Hohall © |
(D) ¥ % URITHRIRET Sl FAE O 61 o el R e =fed |

38. ST USFIR (Terlt Tmewn) ifufom forg o & wiikd gem o ?
(A) 1946

B) 1947
1948

(
©
(D) 1950

39. siEife faarg sifufwm, 1947 ot S W o= emfaa g9 Rl § gwifsgd €
(A) 3E ST
B) diedl g

(
(C) iteft argeg=t
(D) il STEE

40. 99 YaH TTUfEH, 1965 % 3ida, i ff wHER, 9 99 | CARET Gl
Y %1 & & foran €, 3T et | oMY $FTa i geheR
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41. Which of the following statements relating to the Minimum Wages Act, 1948 is not

correct ?

(A) The Act lays down for fixation of a minimum time rate of wages.

(B) The Act has only one Schedule.

(C) Minimum rates of wages cannot be fixed by a State Government

(D) Under the Act, different minimum rates of wages may be fixed for different

localities.

42. Which of the following is a non-statutory welfare facility ?

Welfare Officer
Creche
Transport facility

Canteen

43. Employer is required to provide a canteen if there are

(A)

More than 500 workers
More than 400 workers
More than 250 workers

More than 150 workers

44. Housing is a statutory welfare programme under

(A)

45. The headquarters of Central Board for Workers” Education is located at

Factories Act
Plantations Labour Act
Industrial Disputes Act
Trade Unions Act

New Delhi
Mumbai
Chennai

Nagpur
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41. =9 Teigd fufam, 1948 % FeY H i W1 weF W T §?
(A) Ie At Aol #t FAan g9a ) Fuifd o 7
(B) =9 fuftom Y hadt U TG T
(C) TSI Y =JAaH T T TR gRT &l i st < wehedt 1
(D) eIfufem & ofaid, fI = somehl & o Aol 1 fast =gmam ¢ fer =it < 9t 2

42, Tr=fafaa 8 @ o=@ 9 R-dufe s gfawn g2
A) e IR

B) %hd

C) uRaed gfawn

(
(
(
(D)

43. TR & F=E UM wE TS © AR
A) 500 9 eifeer gfie T
B) 400 ¥ a1firer gfde €
C) 250 % Afusk gfies €

150 9 Aferer ffen &

(
(
(
(D

)
)

44, 3T TR I R T % 3fdia Sunfie wHearor HEHA B

D) gt §o sAfufram

45. =g gt e o o 9uH hEierd el W fed B2
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46. Who among the following was the chairman of the Second National Commission on

Labour ?

(A) Ravindra Verma
(B) Gajendra Ghadkar
(C) Indira Gandhi

(D) Lalbahadur Shastri

47. Which of the following is correctly matched ?

(A)
(B)
(C
(

)
D)

Minimum Wages Act, 1948 : Scheduled Employment
Living Wage : Tripartite Machinery
Wage Board : Indian Constitution
Minimum Bonus : Cost of living Index

48. Which of the following statements is correct ?

(A)
(B)
(C
(

)
D)

Minimum wage provides only the basic requirements of life.
Minimum Wages Act is applicable in all organisations.
Minimum wage is fixed by the employer

None of the above

49. Which of the following statements is wrong ?

(A)
(B)
(C
(

)
D)

Wages are fixed through collective bargaining

Wages are fixed by the trade unions.

Wages are fixed under the Minimum Wages Act, 1948
Wages are fixed through the awards

50. Which of the following is/are authorised deducation(s) under the Payment of Wages

Act, 1936.
(A) Fine
B) Contribution towards E.S.I. Fund

D —5508

Contribution towards Provident Fund
All the above.

-00o0-
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46.

47.

48.

49.

50.

T TP g9 ST o e1eme i 9/ oft ?

(A) oz a4 (B) TSIE e
(C) Sfew it (D) T SRR It
frefafed & & Sa 39 98 gafad 872

(A) =Faq weigd rfuftam, 1948 D STl TSR

(B) Sffer e Asigdl o el weid (F9)
(GIERUEIS . R e

(D) I S : Siter fefe wnTd ekl
freafafeaa & & ®F 91 Fue w8 ®?

(A) =IAaH Heigd, STaF ®i FHad Jeryd Tavashdd 0 H € |
(B)  FeH ATy SAterfarm weft HieHi # o Bt €

(C) =T weigd i g1 feifia &t it 71
(D) Sw® H 9 *rE T |

frefafag § 9 F 91 %2 7o § 2
(A) TG T Hra-die & S feer Y St 7

(B) HSIGH WYl BN fEoR T St < |

(C) eIl =Ia| Heigdt fufam, 1948 & sfarfa fenfia =t St T
(D) el TaTE o WA feer &t St 2

TSIy T, 3TfufEm 1936 & idiia, frfafed § ®F @ Witeha werd/wtadi 2/& ?

-00o0-
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